LHEIRE EEHER (Fd)

B | =2 & |E B |=BH| 9K~128F | 13k~178 | 18K ~21K | 9kK~21K
5 | A-Bfh—JL | 225 | B 21,600 27,000 27,000 94,000
5 AR—IL 135 | &R 16,200 21,600 21,600 43,200
5 BR—IL 54 | |8 6,480 9,720 9,720 19,440
5 AE— - =8 1,080 1,620 1,620 3,240
4 | B1EEE 30 | |8 3,780 9,400 9,400 10,800
4 | H2RHBE 10 | 28 3,240 4,320 4,320 8,640
4 = — =8 2,160 3,240 3,240 6,480
3 M= 10 | 28 3,240 4,320 4,320 8,640
1 AE— — =8 2,160 3,240 3,240 6,480

1. TEEB. HEB. B rrrrernnananns 509 Z|| 1

2. EEB(BAN) rrrrrrssssssssssssssssnnnnns 50% Z| 1

3. LB (B ) rrrrrrrrsnsnssnnsssaaaaaaaa 100%Z| 1

4. %g%ﬁﬁ_;l:uﬁ$% ........................... 50%%]@”

5. THUMERA(4EREE -SETHEZDH) .-+ 50%%E13]

6. REFAAKRER (4B=H=E-SBHEEZDH)----- 50%%Z15|

7. SEBEE 1B - s 1, 080H

8. j]-&lﬁé‘gg1ﬁ 1E#FEﬁ ............................. 108H

9. FAYIYB—(NEC- AU A) TE-rvrermvrnrenss 3, 240H
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